SENTENCE REARRANGEMENT

Direction: Rearrange the parts of the sentence in correct order.

1. Our body takes in many toxins from
P) We eat, and we must have
Q) A process for purging these impurities.
R) The atmosphere and the food

(A) PQR
(B) RPQ
(C) QPR
(D) RQP

Answer: B

2. In hatha yoga,
P) There are practices
Q) And the alimentary canal.
R) To purify the stomach

(A) PRQ
(B) RPQ
(C) QPR
(D) RQP

Answer: A

3. Calling for coordinated action between government and judiciary to reduce
P) The initiative would help in improving ease of doing
Q) Pendency of commercial litigation, the Economic Survey said that
R) Business (EODB) and boost economic activities.

(A) PQR
(B) RPQ
(C) QPR
(D) RQP

Answer: C
4. On the mental plane, worries, fears, anxieties

P) Of impurities in the subconscious mind.
Q) And tensions that we experience in our daily life,



R) All create an accumulation

(A) PQR
(B) RPQ
(C) QPR
(D) QRP

Answer: D

5. Private investment seems poised
P) Adequate recapitalisation of public sector banks (PSBs).
Q) Expeditious resolution of bad loans and
R) To rebound with efforts being made for

(A) PQR
(B) RPQ
(C) QPR
(D) RQP

Answer: D

6. Disease is a condition experienced in the body but existing in the mind.
P) In the deeper self, but we are not sensitive to this.
Q) So, it is experienced through the mind and the senses in the body.
R) According to the yogic concept, disease is inherent

(A) PQR
(B) RPQ
(C) QPR
(D) RQP

Answer: B

7. After inhaling highly-polluted air
P) For months, Delhiites seem to be breathing
Q) Remaining within the safe limits.
R) Easy with PM 2.5 (fine, respirable particles) levels

(A) PQR
(B) RPQ
(C) PRQ
(D) RQP

Answer: C



8. One of the problems they
P) Thread-like diamond crystals.
Q) Production of needle- and
R) Have addressed is

(A) PQR
(B) RPQ
(C) QPR
(D) RQP

Answer: D

9. The sudden spell
P) Of showers washed out
Q) The suspended particles from
R) The air, a rare phenomenon in Delhi.

(A) PQR
(B) RPQ
(C) QPR
(D) RQP

Answer: A

10. Such shaping of original
P) Is possible due to polishing
Q) Natural and synthetic diamonds
R) In the same way as in jewelry production.

(A) PQR
(B) RPQ
(C) QPR
(D) RQP

Answer: C





